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The graph of an inverse relation is a reflection of the graph of the original
relation. The line of reflection is y = x. To find the inverse of a relation given by
an equation in x and y, switch the roles of x and y and solve for y.
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Find the inverse of the following function: . .
Horizontal Line Test

f(x) = 2Xi+ 1 P F(gﬂ&ﬁ*%

q=2x +1 g\ Y=a 0y The inverse of a function 'f is also a
Y Y= &Q}")’i“f‘ function IFF no horizontal line intersects
A the graph 'f more than once.
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How to verify if two functions are
Noraes inverses...Compositions :)

,F(%) f - ( X) Verify that functions are inverses

Verify that f(x) = 3x = Sand f'(x) = %x + %are inverse functions.
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Word Problems: The book is sketchy on
what it calls an inverse...

DONT SWITCH VARIABLES- jhey have meaning
they have value they have context...

Just solve for the other variable

Gosh if its all in bold...it must be important!
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